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Solved Examples

1. Find the locus of the point which is at a

constant distance of 5 units from (4,-3).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fDxz3AbQw1Ih


Watch Video Solution

2. The equation of the locus of the point whose

distance from x - axis is twice its distance from

the y - axis, is

Watch Video Solution

3. The locus of the point, for which the sum of

the sqaures of distances from the coordinate

axes is 25 is

Watch Video Solution

https://dl.doubtnut.com/l/_fDxz3AbQw1Ih
https://dl.doubtnut.com/l/_e9PZDp5Hnegw
https://dl.doubtnut.com/l/_aUwgf6BJzghd


4. If the distances from P to the points

 are in the ratio 3 : 2, then the

locus of P is

Watch Video Solution

(3, 4), ( − 3, 4)

5.  are the three

points . If P is a point such that

, then find locus of P.

Watch Video Solution

A(2, 3), B(1, 5), C( − 1, 2)

PA2 + PB2 = 2PC 2

https://dl.doubtnut.com/l/_aUwgf6BJzghd
https://dl.doubtnut.com/l/_kElPWJQHwtFF
https://dl.doubtnut.com/l/_SdNzAh1ya2Yt


6. The ends of the hypertenuse of right angled

triangle are  . The locus of the third

vertex is

Watch Video Solution

(0, 6), (6, 0)

7. A(1,1) , B (-2,3) are two points . If a point P

forms a triangle of are 2 square units with A, B

then find the locus of P.

Watch Video Solution

https://dl.doubtnut.com/l/_SdNzAh1ya2Yt
https://dl.doubtnut.com/l/_gQQkWcjiK5JA
https://dl.doubtnut.com/l/_IZm4sCt4HxMY
https://dl.doubtnut.com/l/_ES57IFa2V4Vu


8. A(5,3) , B (3,-2),C(2,-1) are the three points . If P

is a point such that the area of the

quadrilateral PABC is 10 square units , then find

the locus of P.

Watch Video Solution

9. A(a,0) , B(-a,0) are two point . If a point P

moves such that  then

find the locus of P .

Watch Video Solution

∠PAB − ∠PBA = 2α

https://dl.doubtnut.com/l/_ES57IFa2V4Vu
https://dl.doubtnut.com/l/_aowXUMGIDngG


10. An iron rod of length 2l is sliding on two

mutually perpendicular lines . Find the locus of

the midpoint of the rod.

Watch Video Solution

11. A straight rod of length 9 unit, slides with its

ends A, B always on the x and y axes repectively.

Then the locus of the centroid of  is

Watch Video Solution

ΔOAB

https://dl.doubtnut.com/l/_7It8q80fLdMK
https://dl.doubtnut.com/l/_6rqoBnJaVJUr
https://dl.doubtnut.com/l/_tpq25kxVJR5T


12. Find the number of points in the locus

represented by the equation 

Watch Video Solution

x2 + y2 = 0

13. Find the locus of the point which is at a

constant distance of 5 units from (4,-3).

Watch Video Solution

14. Find the equation of locus of the point for

which the sum of squares of distances from the

https://dl.doubtnut.com/l/_tpq25kxVJR5T
https://dl.doubtnut.com/l/_TrMoD7t974FF
https://dl.doubtnut.com/l/_q3wrTWQodyh5


coordinate axes is 25

Watch Video Solution

15. If the distance from P to the points (3,4) and

(-3,4) are in the ratio 3:2, find the locus of P.

Watch Video Solution

16.  are the three

points. If P is a point moves such that

, then the locus of P is

A(2, 3), B(1, 5), C( − 1, 2)

PA2 + PB2 = 2PC 2

https://dl.doubtnut.com/l/_q3wrTWQodyh5
https://dl.doubtnut.com/l/_2K0s2n5m5kBv
https://dl.doubtnut.com/l/_HaGPYdn6PeVc


Watch Video Solution

17. The ends of the hypertenuse of right angled

triangle are  . The locus of the third

vertex is

Watch Video Solution

(0, 6), (6, 0)

18.  are two points. If a point

P forms a triangle of area 2 square units with

A,B then find the locus of P.

Watch Video Solution

A(1, 1), B( − 2, 3)

https://dl.doubtnut.com/l/_HaGPYdn6PeVc
https://dl.doubtnut.com/l/_gF0ju2ZwEz67
https://dl.doubtnut.com/l/_oksTOtlKrgLU


19.  are three

points. If P is a point such that the area of the

quadrilateral PABC is 10 sq. unit, then the locus

of P is

Watch Video Solution

A(5, 3), B(3, − 2), C(2, − 1)

20. An iron rod of length 2l is sliding on two

mutually perpendicular lines. Find the locus of

the midpoint of the rod.

Vi T t S l ti

https://dl.doubtnut.com/l/_oksTOtlKrgLU
https://dl.doubtnut.com/l/_dXM4dUtcXp6c
https://dl.doubtnut.com/l/_eLiKjHqTgv15


Advanced Analytical Solved Examples

View Text Solution

21. A straight rod of length 9 unit, slides with its

ends A, B always on the x and y axes repectively.

Then the locus of the centroid of  is

Watch Video Solution

ΔOAB

1. The line joining  to  is

divided internally in the ratio  at P. the locus

(5, 0) (10 cos θ, 10 sin θ)

2: 3

https://dl.doubtnut.com/l/_eLiKjHqTgv15
https://dl.doubtnut.com/l/_3dKpbIeuDZAd
https://dl.doubtnut.com/l/_QO1WdD2Se1A0


of P is

Watch Video Solution

2. Equation of the locus of the centroid of the

triangle whose vertices are

, where k is a perameter, is

Watch Video Solution

(a cos k, a sin k), (b sin k, − b cos k) and (1, 0)

https://dl.doubtnut.com/l/_QO1WdD2Se1A0
https://dl.doubtnut.com/l/_DhEPSwb2wHpP


3. Find the equation of locus of point

equidistant from the points

 .

Watch Video Solution

(a1b1) and (a2, b2)

4. The ends of a rod of length  move on two

mutually perpendicular lines. The locus of the

point on the rod which divides it in the ratio 1 :

2 is

Watch Video Solution

l

https://dl.doubtnut.com/l/_vRp7O7lW8XJX
https://dl.doubtnut.com/l/_187GcHXCvAjI


5.  are

two arithmetic progressions with common

differences a and b respectively. If  are

the arithmetic means of

respectivley . then the locus of  is

Watch Video Solution

p, x1, x2, . . . xn and q, y1, y2, . . . , yn

α and β

x1, x2, . . . . Xn, and y1, y2, . . . . Yn

p(α, β)

6. A (a,0) , B (-a,0) are two points . If a point P

moves such that 

then find the locus of P.

∠PAB − ∠PBA = π /2

https://dl.doubtnut.com/l/_V054eSIk5Ce3
https://dl.doubtnut.com/l/_QDHHlhesqNPJ


Watch Video Solution

7. A(a,0) , B(-a,0) are two point . If a point P

moves such that  then

find the locus of P .

Watch Video Solution

∠PAB − ∠PBA = 2α

8. The locus of the represented by

 is

Watch Video Solution

x = t2 + t + 1, y = t2 − t + 1

https://dl.doubtnut.com/l/_QDHHlhesqNPJ
https://dl.doubtnut.com/l/_3a54n3JOThTu
https://dl.doubtnut.com/l/_hZzVbHLm1Yo5


Exercise 2 1 Very Short Answer Questions

1. The locus of the point which is at a distance 5

unit from  is

Watch Video Solution

( − 2, 3)

2. Find the equation to the locus of the point

for which the square of whose distance from

origin is 4 times its y-coordinate.

Watch Video Solution

https://dl.doubtnut.com/l/_AfvtPm24gFGN
https://dl.doubtnut.com/l/_LUzXVczKQCSg


3. Find the equation to the locus of points

equidistant from the points 

(i) (-3,2), (0,4) 

(ii) (a+b,a-b),(a-b,a+b)

Watch Video Solution

4. Find the equation to the locus of points

equidistant from the points 

(a + b,a - b),(a - b,a + b)

Watch Video Solution

https://dl.doubtnut.com/l/_0lz7ePsskfsR
https://dl.doubtnut.com/l/_uFhYxOFxzxAj


5. The locus of the point which is equidistant to

the coordinate axes is `

Watch Video Solution

6. The locus of the point whose distances to the

coordinates axes arc in the ratio  is

Watch Video Solution

2: 3

https://dl.doubtnut.com/l/_OBFodhKtF6ln
https://dl.doubtnut.com/l/_eq4FW6FOpLVR


7. Find the equation of locus of the point which

is at a distance 5 unit from the Y-axis.

Watch Video Solution

8. Find the equation to the locus of a point P

whose distance to (2,0)is equal to its distance

from y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_BBhWdAzHWILC
https://dl.doubtnut.com/l/_b3FUWm8U6309


Exercise 2 1 Short Answer Questions

9. The locus of P for which the distance from P

to origin is double the distance from P to 

is

Watch Video Solution

(1, 2)

10. Find the locus of P If the distance of P from

(3,0) is twice the distance of P from (-3,0)

Watch Video Solution

https://dl.doubtnut.com/l/_U5ZISZzVQRL1
https://dl.doubtnut.com/l/_yi8P5jLdTAXB


1. If the distance from 'P' to the points (2,3) and

(2,-3) are in the ratio 2:3, then find the equation

of the locus of P.

Watch Video Solution

2. If the distance from P to the points 

(5,-4) (7,6) are in the ratio 2 :3 , then find the

locus of P.

Watch Video Solution

https://dl.doubtnut.com/l/_ZFmkTsHGgPAT
https://dl.doubtnut.com/l/_U60wKG0HI03h
https://dl.doubtnut.com/l/_Efe5D8VEWOxv


3. Find the locus of the point P such that

 :where"A(a,0),B(-a,0) and 

Watch Video Solution

PA2 + PB2 = 2c2

0 < |a| < |c|.

4.  are 3 points.

A point P moves such that

 . Show that the equation

to the locus of P is 7 x - 7y + 4 = 0 .

Watch Video Solution

A(1, 2), B(2, − 3), C( − 2, 3)

PA2 + PB2 = 2PC 2

https://dl.doubtnut.com/l/_Efe5D8VEWOxv
https://dl.doubtnut.com/l/_eRl84SHvCrvs
https://dl.doubtnut.com/l/_OU3gZOLYtmcB


5. Find the locus of a point P If the join of the

points (2,3) and (-1,5) subtends a right angle at

P.

Watch Video Solution

6. Find the the locus of the third vertex of a

right angled triangle, the ends of whose

hypotenuse are (4,0) and (0,4).

Watch Video Solution

https://dl.doubtnut.com/l/_OU3gZOLYtmcB
https://dl.doubtnut.com/l/_2QMLlBiJ59LQ


7. A(2,3) B (-3,4)are two points P moves such

that the area of  is 8.5 square units,

then find the locus of P

Watch Video Solution

ΔPAB

8. A(5,3) B (3,-2) are two points . If a point P

forms a triangle of area 9 square units with A,B

then find the locus of P.

Watch Video Solution

https://dl.doubtnut.com/l/_VX9hbIV3F3XC
https://dl.doubtnut.com/l/_ES1ZKt8mzhTy
https://dl.doubtnut.com/l/_tvJ7ZUzxAqsx


9. O(0,0) A(6,0)and B(0,4)are three points .If P is

a point such that the area of  is twice

the area of , then find the locus of P.

Watch Video Solution

ΔPOB

ΔPOA

10. Find the equation of locus of the points

which is collinear with the points (3,4) and

(-4,3).

View Text Solution

https://dl.doubtnut.com/l/_tvJ7ZUzxAqsx
https://dl.doubtnut.com/l/_WZtXjbA5uH4e


11. Find the equation of locus of a point, the

sum of whose distances from (0 , 2) and (0 , -2)

is 6 .

Watch Video Solution

12. Find the equation of the locus of P, if A=(2,3),

B=(2,-3) and PA +PB =8.

Watch Video Solution

https://dl.doubtnut.com/l/_MzK3RRIUz9MQ
https://dl.doubtnut.com/l/_5XkhobUhxdmE


Advanced Subjective Type Questions

13. Find the equation locus of a point, the

difference of whose distances from (-5,0) and

(5,0) is 8

View Text Solution

14. Find the equation of locus of P if

Watch Video Solution

A = (4, 0), B( − 4, 0) and |PA − PB| = 4

https://dl.doubtnut.com/l/_XSbOJhJ284t7
https://dl.doubtnut.com/l/_8f2W7y0AYGDO


1. The position of moving point in xy plane at

time 't' is given by 

where  are constants . Find the equation

of locus of the moving point.

Watch Video Solution

(u cos αt, u sin α(t − pt2))

u, α, p

2. ABC is a variable triangle with a fixed centriod

(5,5) the side BC = 13 and B,C move on x and y -

axis respectively. Find the equation of locus of

vertex 'A'.

Watch Video Solution

https://dl.doubtnut.com/l/_2ftGdmscGDtt
https://dl.doubtnut.com/l/_bJL5JAn1DIFF


3. A line AB of length '2l' moves with the end 'A'

always on x - axis and the end 'B' on the line y =

6x find the equation of locus of middle point of

AB

Watch Video Solution

4. A and B are two fixed points and if the vertex

'C' of  moves such that ΔABC

https://dl.doubtnut.com/l/_bJL5JAn1DIFF
https://dl.doubtnut.com/l/_Yb13mbyOQDQU
https://dl.doubtnut.com/l/_jVOyx8LDxAhy


, then show that locus of 'C'

is a line parallel to AB.

Watch Video Solution

cot A + cot B = k

5.  is equilateral . P moves inside the

triangle such that P in nearer to side BC than to

the sides AB and AC. If locus of P gives a region

then find its area, given that the side of 

is 2 untis.

Watch Video Solution

ΔABC

ΔABC

https://dl.doubtnut.com/l/_jVOyx8LDxAhy
https://dl.doubtnut.com/l/_hewYwz53uXyJ
https://dl.doubtnut.com/l/_NP1SZeYMqgYF


6. Let A = (-2,0) , B = (2,0) and the point P moves

such that

subtends acute angle at P then find the number

of possible positions of P.

Watch Video Solution

P = (a, a + 1), a ∈ [ − 10, 10] and ¯̄̄ ¯̄¯AB

7. Let O (0,0) and A (2,2) are given points . A

point P moves such that it is nearer to O than A,

then find the locus of P

Watch Video Solution

https://dl.doubtnut.com/l/_NP1SZeYMqgYF
https://dl.doubtnut.com/l/_BEHtTkPjWBEi


8. Let P(x,y) be a point which moves such that

[x] = [y] where [] is greatest integer function,

 . If the locus of P

constitutes a region , then find its area.

Watch Video Solution

0 ≤ x ≤ , 0 ≤ y ≤
7

2

7

2

9. Let P(x,y) moves such that the sum of its

distances to the co - ordinate axes is at most 2.

The set of all points P gives a region then find

its area .

https://dl.doubtnut.com/l/_BEHtTkPjWBEi
https://dl.doubtnut.com/l/_OMSyU7SVWOD9
https://dl.doubtnut.com/l/_osUFc0enb2WU


Additional Solved Examples

Watch Video Solution

10. Find the number of points , having both co-

ordinates as integers , that lie in the interior of

the triangle with vertices (0,0) , (0,41),(41,0)

Watch Video Solution

https://dl.doubtnut.com/l/_osUFc0enb2WU
https://dl.doubtnut.com/l/_5PY4KtkOikVx


1. Find the Cartesian equation of the locus

whose parametric equations are

 where  is the

parameter.

View Text Solution

x = a cos θ, y = a sin θ θ

2. Find the locus of the point

 where  is the

parameter.

Watch Video Solution

(a − b sec θ, a − b tan θ) θ

https://dl.doubtnut.com/l/_tS3nFhMty9OJ
https://dl.doubtnut.com/l/_HT4EScGzX3Bw


3. Find the locus of the piont 

where  is the parameter.

Watch Video Solution

(a cos3 θ, b sin3 θ)

θ

4. Find the locus of the point 

 is a

parameter

Watch Video Solution

(cos ecθ − sin θ, sec θ − cos θ), θ

https://dl.doubtnut.com/l/_DZ3Nqd5gDhG8
https://dl.doubtnut.com/l/_FXNVVi7qInlo


Exercise 2 Very Short Answer Qustions

5. Find the locus of point 

 where  is a

parameter.

Watch Video Solution

(tan θ + sin θ, tan θ − sin θ) θ

1. The locus of the point which is at a distance 5

unit from  is

Watch Video Solution

( − 2, 3)

https://dl.doubtnut.com/l/_HCnTiTlg431N
https://dl.doubtnut.com/l/_v2KzNglicmbO


2. Find the equation to the locus of the point

for which the square of whose distance from

origin is 4 times its y-coordinate.

Watch Video Solution

3. Find the equation to the locus of points

equidistant from the points 

(i) (-3,2), (0,4) 

(ii) (a+b,a-b),(a-b,a+b)

Watch Video Solution

https://dl.doubtnut.com/l/_Ldw6wUWZquYX
https://dl.doubtnut.com/l/_A0QFYpWvIzHF


4. Find the locus of the point which is

equidistant from the coordinate axes.

Watch Video Solution

5. Find the equation of locus of the point whose

distance from the coordinate axes are in the

ratio 2:3

Watch Video Solution

https://dl.doubtnut.com/l/_gR22xO0opzoJ
https://dl.doubtnut.com/l/_XKN1JMpe5oLG


6. Find the equation of locus of the point which

is at distance 5 units from the Y-axis.

Watch Video Solution

7. Find the equation to the locus of a point P

whose distance to (2,0) is equal to its distance

from y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_UYoVfRtqyStp
https://dl.doubtnut.com/l/_qTqHWdWXquDt


Exercise 2 Short Answer Qustions

8. Find the locus of P for which the distance

from P to origin is double the distance from P

to the point (1,2).

Watch Video Solution

9. Find the locus of P If the distance of P from

(3,0) is twice the distance of P from (-3,0)

Watch Video Solution

https://dl.doubtnut.com/l/_UAv5VvhGqmzN
https://dl.doubtnut.com/l/_zd43dCyYPQzZ


1. If the distance from P to the points 

 are in the ratio 2:3 the find the

locus of P.

Watch Video Solution

(2, 3), (2, − 3)

2. Find the locus of P(x,y) which moves such that

its distances from A(5,-4),B(7,6) are in the ratio

2:3.

Watch Video Solution

https://dl.doubtnut.com/l/_j4W7wJY9JLMu
https://dl.doubtnut.com/l/_GE47zuAqnekp
https://dl.doubtnut.com/l/_GUqvN0syhJzk


3. Find the locus of the point P such that

 :where"A(a,0),B(-a,0) and 

Watch Video Solution

PA2 + PB2 = 2c2

0 < |a| < |c|.

4.  are three

points. A point P moves such that

. Show that the locus of P

is 

Watch Video Solution

A(1, 2), B(2, − 3), C( − 2, 3)

PA2 + PB2 = 2PC 2

7x − 7y + 4 = 0

https://dl.doubtnut.com/l/_GUqvN0syhJzk
https://dl.doubtnut.com/l/_Dc7smSNiWEjS
https://dl.doubtnut.com/l/_BNS5rjr2gax1


5. Find the locus of a point P if the join of the

points (2,3) and (-1,5) subtends a right angle at

P.

Watch Video Solution

6. Find the the locus of the third vertex of a

right angled triangle, the ends of whose

hypotenuse are (4,0) and (0,4).

Watch Video Solution

https://dl.doubtnut.com/l/_BNS5rjr2gax1
https://dl.doubtnut.com/l/_d6ov92blFAkN


7. A(2,3) B (-3,4)are two points P moves such

that the area of  is 8.5 square units,

then find the locus of P

Watch Video Solution

ΔPAB

8. A(5,3) B (3,-2) are two points . If a point P

forms a triangle of area 9 square units with A,B

then find the locus of P.

Watch Video Solution

https://dl.doubtnut.com/l/_KV2kknoXbelL
https://dl.doubtnut.com/l/_tJtf1GgtB6Te
https://dl.doubtnut.com/l/_djNVlnZWasdU


9. O(0,0) A(6,0)and B(0,4)are three points .If P is

a point such that the area of  is twice

the area of , then find the locus of P.

Watch Video Solution

ΔPOB

ΔPOA

10. The locus of a point which is collinear with

the points (3, 4) and (-4, 3) is

Watch Video Solution

https://dl.doubtnut.com/l/_djNVlnZWasdU
https://dl.doubtnut.com/l/_X3DqLkKhvnPz


11. Find the equation of locus of a point such

that the sum of whose distances from (0,2) and

(0,-2) is 6.

Watch Video Solution

12. Find the locus of P, if

 and 

Watch Video Solution

A = (2, 3), B = (2, − 3) PA + PB = 8

https://dl.doubtnut.com/l/_bU8042GziwTi
https://dl.doubtnut.com/l/_dObatvqKA8e2


13. Find the equation of locus of a point such

that the difference of whose distances from

(-5,0) and (5,0) is 8

Watch Video Solution

14. Find the equation of locus of P, if

 and 

Watch Video Solution

A = (4, 0), B = ( − 4, 0)

|PA − PB| = 4

https://dl.doubtnut.com/l/_UQKums62jRmi
https://dl.doubtnut.com/l/_EJgHSMFRXGnM


Additional Exercise

1. Find the locus of the point (x,y) where 

Watch Video Solution

x = a + b cos θ, y = b + a sin θ

2. Find the locus of the point (x,y) where 

Watch Video Solution

x = a + b sec θ, y = b + a tan θ

https://dl.doubtnut.com/l/_rOZMVsGkoByt
https://dl.doubtnut.com/l/_lzxMK86qNPUA


3. The locus of the point

 where

 is

Watch Video Solution

(a sec θ + b tan θ, b sec θ + a tan θ)

0 ≤ θ < 2π

4. Find the locus of the point 

where  is a parameter.

Watch Video Solution

(a cos4 θ, a sin4 θ)

θ

https://dl.doubtnut.com/l/_R7BVjsUiR1KN
https://dl.doubtnut.com/l/_ALtjkB8mQ5kA


5. Find the locus of point  where t is a

parameter.

Watch Video Solution

(at2, 2at)

6. Find the locus of point  where t is a

parameter.

Watch Video Solution

(ct, )
c

t

https://dl.doubtnut.com/l/_4BvZIQLgPHnV
https://dl.doubtnut.com/l/_FC7Tb6LAT6Cf


Exercise I

7. Find the locus of point 

where t is a parameter.

Watch Video Solution

(a + bt, b − )
a

t

8. Find the locus of point 

where t is a parameter.

Watch Video Solution

(t + , t − )
1

t

1

t

https://dl.doubtnut.com/l/_53kODo2MXBTA
https://dl.doubtnut.com/l/_A5jpLtKjUVQB
https://dl.doubtnut.com/l/_STG2x78Uv50x


1. The equation of the locus of the point whose

distance from x-axis is twice its distance from

the y-axis is

A. 

B. 

C. y=3x

D. 4x+y=0

Answer: 1

Watch Video Solution

y2 = 4x2

4y2 = x2

https://dl.doubtnut.com/l/_STG2x78Uv50x
https://dl.doubtnut.com/l/_lUDAESg0N35U


2. The locus of a point whose distance from the

y-axis is half of its distance from origin is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

2x2 = y2

x2 = 3y2

3x2 = y2

x2 = 2y2

https://dl.doubtnut.com/l/_lUDAESg0N35U


3. The locus of the point for which the sum of

the squares of distances from the corrdinate

axes is 25 is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x2 + y2 = 19

x2 + y2 = 25

x2 + y2 = 32

x2 + y2 = 29

https://dl.doubtnut.com/l/_vmntrpQaYoQW


4. If the equation to the locus of points

equidistant from the points 

is  where  then, the

ascending order of a, b, c is

A. a,b,c

B. c, b, a

C. b, c, a

D. a, c, b

Answer: 2

Watch Video Solution

( − 2, 3), (6, − 5)

ax + by + c = 0 a > 0

https://dl.doubtnut.com/l/_HxvNaNe692Vj


5. A(2, 1) and B(1, 2) are two points. If P is a point

such that , then the locus of P

is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

PA : PB = 2: 1

3x2 + 3y2 + 4x + 14y − 15 = 0

3x2 + 3y2 − 4x − 14y + 15 = 0

3x2 + 3y2 + 2x + 7y + 13 = 0

3x2 + 3y2 − 2x − 7y + 13 = 0

https://dl.doubtnut.com/l/_HxvNaNe692Vj
https://dl.doubtnut.com/l/_WzTmi8HSoykO


6. Let  then the

locus of a point P such that

 is

A. a straight line parallel to x - axis

B. a straight line parallel to y-axis

C. parallel to x + y =2

D. xy=0

Answer: 2

Watch Video Solution

A(1, 0), B( − 1, 0), C(2, 0)

PB2 + PC 2 = 2PA2

https://dl.doubtnut.com/l/_WzTmi8HSoykO
https://dl.doubtnut.com/l/_NlKLp3uSA0QW


7. If  then the locus of the

point P such that  is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

A(a, 0), B( − a, 0)

PA2 + PB2 = 2c2

x2 + y2 + a2 − c2 = 0

x2 + y2 + a2 + c2 = 0

2x2 + y2 + 3a2 − c2 = 0

x2 − y2 − a2 − c2 = 0

https://dl.doubtnut.com/l/_NlKLp3uSA0QW
https://dl.doubtnut.com/l/_Wh9tUIlUNM8P


8. The equation to the locus of P such that the

join of (a, b) and (b, a) subtend a right angle at

P, is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x2 + y2 − ax − by + ab = 0

x2 + y2 − ax − by + 2ab = 0

x2 + y2 − (a + b)(x + y) + ab = 0

x2 + y2 − (a + b)(x + y) + 2ab = 0

https://dl.doubtnut.com/l/_GDDtPnYjkrdZ


9. A line passes through a fixed point A(a, b).

The locus of the foot of the perpendicular on it

from origin is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x2 + y2 + ax + by = 0

x2 + y2 − ax − by = 0

x2 + y2 − ax + by = 0

x2 + y2 + ax − by = 0

https://dl.doubtnut.com/l/_F4WxH7U48AJh


10. The locus of a point which is collinear with

the points (3, 4) and (-4, 3) is

A. 2x + 3y - 12 = 0

B. 2x + 3y +12 = 0

C. 3x +2y +12=0

D. x-7y + 25 = 0

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_Y5YIih46T5bc


11. If  and O is the origin,

then the locus of P such that the area of

 (area of ) is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

A = (6, 0), B = (0, 4)

ΔPOB = 2 ΔPOA

x2 − 3y2 = 0

x2 + 3y2 = 0

x2 − 9y2 = 0

x2 − 4y2 = 0

https://dl.doubtnut.com/l/_DAtrbE8j1oWA


12. The locus of P such that the area of 

is 12 sq. units where A(2, 2) and B(-4,5) is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

ΔPAB

x2 + 6xy + 9y2 − 22x − 66y − 23 = 0

x2 − 6xy + 9y2 + 22x + 66y + 23 = 0

x2 + 5xy + 9y2 + 20x + 62y + 22 = 0

x2 + 4y2 + 4xy − 12x − 24y − 28 = 0

https://dl.doubtnut.com/l/_KN8ha6ST38qY


13. The base of a triangle lies along the line x=a

and is of length a. The area of the triangle is

a^2. The locus of the third vertex is

A. (x + a) (x - 3a) = 0

B. (x – a) (x + 3a) = 0

C. (x - a) (x – 3a) = 0

D. (x – a) (x – 2a) = 0

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_gYmqSD06VqR4


14.  are three

points. If P is a point such that the area of the

quadrilateral PABC is 10 sq. unit, then the locus

of P is

A. 

B. 

C. 

A(5, 3), B(3, − 2), C(2, − 1)

16x2 − 24xy + 9y2 − 144x + 108y − 76 = 0

16x2 + 24xy + 9y2 + 144x + 108y + 76 = 0

16x2 + 24xy + 9y2 − 144x + 108y − 76 = 0

https://dl.doubtnut.com/l/_RwpKaMswjNWg


D. 

Answer: 1

Watch Video Solution

16x2 + 24xy + 9y2 + 144x + 108y − 76 = 0

15. A line segment of length 2l sliding with ends

on the axes, then the locus of the middle point

of the line segment is

A. x2 + y2 = 4l2

https://dl.doubtnut.com/l/_RwpKaMswjNWg
https://dl.doubtnut.com/l/_6WwVxXAVEl9z


B. 

C. 

D. 

Answer: 2

Watch Video Solution

x2 + y2 = l2

x2 − y2 = 4l2

x2 − y2 = l2

16. A straight rod of length 3l unit slides with its

ends A, B always on the x and y axes

respectively. Then the locus of the centroid of

 isΔOAB

https://dl.doubtnut.com/l/_6WwVxXAVEl9z
https://dl.doubtnut.com/l/_W8GUus6bqiXS


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x2 + y2 = 3l2

x2 + y2 = l2

x2 + y2 = 4l2

x2 + y2 = 2l2

17. Through  variable line is drawn cut

ting the axes at A, B. If OACB is a rectangle then

locus of C is

(x0, y0)

https://dl.doubtnut.com/l/_W8GUus6bqiXS
https://dl.doubtnut.com/l/_QFaXkXP42eWE


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

+ = 1
x0

2x

y0

2y

+ = 1
x0

x

y0

y

+ = 1
x0

3x

y0

3y

+ = 1
2x0

x

2y0

y

18. If h denote the arithmetic mean, k denote

G.M. of the intercepts made on axes by the lines

passing through (1, 1) then (h, k) lies on

https://dl.doubtnut.com/l/_QFaXkXP42eWE
https://dl.doubtnut.com/l/_PEg1ZXMi3Z8M


A. 

B. 

C. y=2x

D. x+y=2xy

Answer: 1

Watch Video Solution

y2 = 2x

y2 = 4x

19. If a, b, c are in A.P., a, x, b are in G.P. and b, y, c

are in G.P. the point (x, y) lies on

https://dl.doubtnut.com/l/_PEg1ZXMi3Z8M
https://dl.doubtnut.com/l/_fXsCVlHO1O2Q


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x2 + y2 = 2b2

x2 − y2 = 2b2

x2 − y2 = 3b2

x2 + y2 = 3b2

20. Let A = (2,5) and B = (4, -1) are two vertices of

a AABC. Third vertex C moves along

https://dl.doubtnut.com/l/_fXsCVlHO1O2Q
https://dl.doubtnut.com/l/_Nmo7hwTa76Sb


. The locus of the

centroid of triangle ABC is the line

A. 9x-7y-22=0

B. 9x+7y+22=0

C. 27x+21y-77=0

D. 27x+21y-78=0

Answer: 4

Watch Video Solution

L = 9x + 7y + 4 = 0

https://dl.doubtnut.com/l/_Nmo7hwTa76Sb


21. A point moves in the xy - plane such that th

sum of its, distances from two mutually

perpendicular lines is always equal to 5 units.

The area (in square units) enclosed by the locus

of the point is

A. 

B. 25

C. 50

D. 100

Answer: 3

25

4

https://dl.doubtnut.com/l/_iJrVS2sKJ0dl


Watch Video Solution

22. If  and ,

then the locus of P is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

A(a, 0), B( − a, 0) ∠APB = 45∘

x2 + y2 + 2ax + a2 = 0

x2 + y2 − 2ax − a2 = 0

x2 + y2 + 2yx + a2 = 0

x2 + y2 − 2ay − a2 = 0

https://dl.doubtnut.com/l/_iJrVS2sKJ0dl
https://dl.doubtnut.com/l/_UxuEgxoQURsZ


23. , P is a moving

point such that . The

locus of P is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

A = (a, 0), B = ( − a, 0)

∠PAB − ∠PBA =
π

2

x2 − y2 = a2

x2 + y2 = a2

x2 − 2y2 = a2

x2 − y2 = 2a2

https://dl.doubtnut.com/l/_UxuEgxoQURsZ
https://dl.doubtnut.com/l/_VFFiHirij0JE


24. The locus of a point such that the sum of its

distances from the points  and  is

6 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

(0, 2) (0, − 2)

9x2 − 5y2 = 45

5x2 + 9y2 = 45

9x2 + 5y2 = 45

5x2 − 9y2 = 45

https://dl.doubtnut.com/l/_VFFiHirij0JE
https://dl.doubtnut.com/l/_CSwttZVI7AQg


25. A point P moves so that the sum of its

distance from the points (ae, 0), (-ae, o) is 2a.

The locus of the point P is 

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

(0 < e < 1)

− = 1
x2

a2

y2

a2(1 + e2)

+ = 1
x2

a2

y2

a2(1 + e2)

− = 1
x2

a2

y2

a2(1 − e2)

+ = 1
x2

a2

y2

a2(1 − e2)

https://dl.doubtnut.com/l/_CSwttZVI7AQg
https://dl.doubtnut.com/l/_McFg60nByVxb


Watch Video Solution

26. The perimeter of triangle is 14 units and two

of its vertices are (-3,0), (3, 0) then the locus of

the 3rd vertex is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

+ = 1
x2

16

y2

7

+ = 1
x2

25

y2

16

+ = 1
x2

7

y2

16

+ = 1
x2

16

y2

25

https://dl.doubtnut.com/l/_McFg60nByVxb
https://dl.doubtnut.com/l/_R0aVxCyORs7r


Watch Video Solution

27.  are two points. The

locus of P which moves such that

 is

A. 

B. 

C. y-5=0

D. 

Answer: 2

W t h Vid S l ti

A(2, 3), B( − 2, 3)

PA − PB = 4

y + 3 = 0, x ∈ ( − 2, 2)

y − 3 = 0, x ∈ R − ( − 2, 2)

y2 − 3 = 0

https://dl.doubtnut.com/l/_R0aVxCyORs7r
https://dl.doubtnut.com/l/_faXQBnpaizMO


Watch Video Solution

28. The locus of the point represented by

 is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x = cos2 t, y = 2 sin t

y2 = 4x

y2 = 4x + 1

y2 + 4x = 1

y2 + 4x = 4

https://dl.doubtnut.com/l/_faXQBnpaizMO
https://dl.doubtnut.com/l/_0bQbml7S3sWo


29. The locus of the point

 where  is

parameter, is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

(sec θ + tan θ, sec θ − tan θ) θ

x2 + y2 = 1

x2 − y2 = 1

xy = 1

xy + 1 = 0

https://dl.doubtnut.com/l/_0bQbml7S3sWo
https://dl.doubtnut.com/l/_IqC731khi2XW


30. The locus of the point

, where  is

the parameter, is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

(a(cos θ + sin θ), b(cos θ − sin θ)) θ

+ = 1
x2

a2

y2

b2

− = 1
x2

a2

y2

b2

− = 2
x2

a2

y2

b2

+ = 2
x2

a2

y2

b2

https://dl.doubtnut.com/l/_IqC731khi2XW
https://dl.doubtnut.com/l/_GVYETBnjPZsw


31. If (p,q),  are

the vertices of a triangle, where  is a

parameter then the locus of the centriod of the

triangle

A. 

B. 

C. 

D. 

Answer: 1

(a cos θ, b sin θ), (b cos θ, a sin θ)

θ

(3x − p)2 + (3y − q)2 = (a + b)2

x2 + y2 = 9(a + b)2

(3x + p)2 + (3y + q)2 = (a + b)2

x(x − a) + y(y + b) = 0

https://dl.doubtnut.com/l/_GVYETBnjPZsw
https://dl.doubtnut.com/l/_QyZJzCH5xldy


Watch Video Solution

32. The locus of the centroid of the triangle

with vertices at

 and (1,0) is

(Here  is a parameter)

A. 

B. 

C. 

D. 

(a cos θ, a sin θ), (b sin θ, − b cos θ)

θ

(3x − 1)2 + 9y2 = a2 + b2

(3x + 1)2 + 9y2 = a2 + b2

(3x + 1) + 9y2 = a2 + b2

(3x − 1)2 + 9y2 = a2 − b2

https://dl.doubtnut.com/l/_QyZJzCH5xldy
https://dl.doubtnut.com/l/_1jCIWAXxOQzt


Answer: 1

Watch Video Solution

33. The locus of the point

 where  is a parameter

is

A. 

B. 

C. 

D. 

x = a + λ2, y = b − λ λ

(x − a)2 = b − y

x − a = (b − y)2

x + a = y2

x − a = y2

https://dl.doubtnut.com/l/_1jCIWAXxOQzt
https://dl.doubtnut.com/l/_uZtMauyJVtsb


Answer: 2

Watch Video Solution

34. The locus represented by 

 is

A. 

B. 

C. 

D. 

x = (t + ), y = (t − )
a

2

1

t

a

2

1

t

x2 + y2 = a2

x2 − y2 = a2

2x2 − y2 = a2

x2 − 2y2 = a2

https://dl.doubtnut.com/l/_uZtMauyJVtsb
https://dl.doubtnut.com/l/_1EoY6USB7iFe


Answer: 2

Watch Video Solution

35. Statement-I : Let

 are

vertices of a trianlge then the locus of the

centroid of triangle is  


Statement-II : The locus of the point

 is  The correct

statement is

A(0, 0), B(cos α, sin α), C(sin α − cos α)

9x2 + 9y2 = 4

(a cos θ, b sin θ) + = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_1EoY6USB7iFe
https://dl.doubtnut.com/l/_wF9ZsdiSrTbp


A. only I

B. only II

C. both I and II

D. neither I nor II

Answer: 2

Watch Video Solution

36. Let P(x, y) be any point on the locus then

observe the following lists 

https://dl.doubtnut.com/l/_wF9ZsdiSrTbp
https://dl.doubtnut.com/l/_7QEzkI7un3mo


 

The correct matching is

A. 

B. 

C. 

A B C D

1 2 3 4

A B C D

1 5 3 4

A B C D

1 2 4 3

https://dl.doubtnut.com/l/_7QEzkI7un3mo


D. 

Answer: 1

Watch Video Solution

A B C D

2 1 3 5

37. Find the equation to the locus of points

equidistant from the points 

(-3,2),(0,4)

A. A true, R true and R is correct explanation

of A

https://dl.doubtnut.com/l/_7QEzkI7un3mo
https://dl.doubtnut.com/l/_ZLgBay43LocS


B. A true, R true but R is not correct

explanation of A

C. A true, R false

D. A false, R true

Answer: 1

Watch Video Solution

38. The line joning (5,0) and 

is divided internally in the ratio 2:3 at P. Then

locus of P is

(10 cos θ, 10 sin θ)

https://dl.doubtnut.com/l/_ZLgBay43LocS
https://dl.doubtnut.com/l/_Be4Hyh30Fi1K


A. a pair of straight lines

B. straight line

C. a circle

D. a parabola

Answer: 3

Watch Video Solution

39. The locus given by 

 is16x2 − 24xy + 9y2 − 62x + 34y + 46 = 0

https://dl.doubtnut.com/l/_Be4Hyh30Fi1K
https://dl.doubtnut.com/l/_tt3uq2GzeKIC


A. pair of lines

B. circle

C. parabola

D. Hyperbola

Answer: 3

Watch Video Solution

40. The locus given by  is

A. hyperbola

25x2 + 16y2 = 400

https://dl.doubtnut.com/l/_tt3uq2GzeKIC
https://dl.doubtnut.com/l/_ovgMTm3aQC7N


B. ellipse

C. parabola

D. circle

Answer: 2

Watch Video Solution

41. The locus given by  is

A. pair of lines

B. circle

2x2 − y2 = 4a2

https://dl.doubtnut.com/l/_ovgMTm3aQC7N
https://dl.doubtnut.com/l/_MV6pdxByNpj5


C. ellipse

D. Hyperbola

Answer: 4

Watch Video Solution

42. The equation

represents

A. a pair of lines

√(x − 2)2 + y2 + √(x + 2)2 + y2 = 4

https://dl.doubtnut.com/l/_MV6pdxByNpj5
https://dl.doubtnut.com/l/_fqpYAR1byeyj


B. a parbola

C. a line sement

D. a circle

Answer: 3

Watch Video Solution

43. A and B are fixed points of 

constant) and  then the locus of P is

A. Hyperbola

PA + PB = K

K > AB

https://dl.doubtnut.com/l/_fqpYAR1byeyj
https://dl.doubtnut.com/l/_Si15zy5JQKFs


B. an ellipse

C. Parabola

D. a circle

Answer: 2

Watch Video Solution

44. Equation of the locus of the centroid of the

triangle whose vertices are

 and (1,0)

where k is a p arameter is

(a cos k, a sin k), (b sin k, − b cos k)

https://dl.doubtnut.com/l/_Si15zy5JQKFs
https://dl.doubtnut.com/l/_i76xOON1i2PI


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

(1 − 3x)2 + 9y2 = a2 + b2

(3x − 1)2 + 9y2 = 2a2 + 2b2

(3x + 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = 3a2 + 3b2

45. If A(5, 4) and B(7, 6) are points in a plane,

then the set of all points P(x, y) in the plane

such that AP : PB = 2:3 is

https://dl.doubtnut.com/l/_i76xOON1i2PI
https://dl.doubtnut.com/l/_smpXOkKXBQtk


Practice Exercise

A. a circle

B. a hyperbola

C. an ellipse

D. a parabola

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_smpXOkKXBQtk


1. The locus of the point which is equidistant to

the coordinate axes is `

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x2 + y2 = 0

x(2) − y2 = 0

x + y = 0

x − y = 0

https://dl.doubtnut.com/l/_l3CHqgsnFbDx


2. The locus of a point whose distance from y-

axis is one-third of its distance from origin is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

y2 = 8x2

8y2 = x2

x2 + y2 = 9

x2 + 2y2 = 9

https://dl.doubtnut.com/l/_8ZGG6hiuC7te


3. The equation to the locus of points

equidistant from the points  is

A. x=1

B. x=2

C. x=3

D. x=0

Answer: 4

Watch Video Solution

( − 3, 4), (3, 4)

https://dl.doubtnut.com/l/_Cewgxlf3RH7K


4. If the equation of the locus of a point equi-

distant from the points  and  is 

 then the

value of c is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

(a1, b1) (a2, b2)

(a1 − a2)x + (b1 − b2)y + c = 0

√a2
1 + b2

1 − a2
2 − b2

2

(a2
2 + b2

2 − a2
1 − b2

1)
1

2

a2
1 − a2

2 + b2
1 − b2

2

(a2
1 + a2

2 + b2
1 + b2

2)
1

2

https://dl.doubtnut.com/l/_fDp4AbPuKaqF


5. The equation to the locus of points

equidistant from the points 

is  then increasing order of a,

b, c is

A. a, b, c

B. c, b, a

C. b, c, a

D. a, c, b

Answer: 2

( − 2, 3), (6, − 5)

ar + by + c = 0

https://dl.doubtnut.com/l/_fDp4AbPuKaqF
https://dl.doubtnut.com/l/_WoMIjYTfFLg8


Watch Video Solution

6.  and  are two points. If 

 is a point such that , then

the locus of P is

A. 

B. 

C. 

D. 

Answer: 3

A( − 9, 0) B( − 1, 0)

P (x, y) 3PB = PA

x2 − y2 = 9

x2 − y2 + 9 = 0

x2 + y2 = 9

x2 + y2 = 3

https://dl.doubtnut.com/l/_WoMIjYTfFLg8
https://dl.doubtnut.com/l/_zM28p01l7Uy1


Watch Video Solution

7.  are three points

and  then locus of P is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

A(2, 3), B(1, 5), C( − 1, 2)

PA2 + PB2 = 2PC 2

10x + 8y − 29 = 0

10x + 8y + 29 = 0

10x − 8y + 29 = 0

10x − 8y − 29 = 0

https://dl.doubtnut.com/l/_zM28p01l7Uy1
https://dl.doubtnut.com/l/_zQClpF6Yrlau


8. Let  and  then the

locus of S such that  is

A. a straight line parallel to x-axis

B. a straight line parallel to y-axis

C. x + y = 4

D. xy=0

Answer: 2

Watch Video Solution

P (2, 0), Q( − 2, 0) R(4, 0)

SQ2 + SR2 = 2SP 2

https://dl.doubtnut.com/l/_zQClpF6Yrlau
https://dl.doubtnut.com/l/_vBzEYQYVcpb5


9. The point P moves such that the sum of the

squares of its distances from two fixed points

 is  the locus of P is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

A(a, 0), B( − a, 0) 8a2

x2 − y2 = a2

x2 + y2 = a2

x2 + y2 = 3a2

x2 + y2 = 6a2

https://dl.doubtnut.com/l/_nnqegNOdQ1Mv


10.  are two points if P is a

point such that  then the locus

of P is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

A(2, 3), B( − 1, 1)

∠APB = 90∘

x2 + y2 − x − 4y + 1 = 0

x2 + y2 + x + 4y − 1 = 0

x2 + y2 − x + 4y − 1 = 0

x2 + y2 + x − 4y − 1 = 0

https://dl.doubtnut.com/l/_G3BLaO59yd5j


11. A line passes through a fixed point A(h, k).

The locus of the foot of the perpendicular on it

from origin is

A. 1)

B. 2)

C. 

D. 4)

Answer: 2

Watch Video Solution

x2 + y2 + hx + ky = 0

x2 + y2 − hx − ky = 0

3)x2 + y2 − kx − hy = 0

x2 + y2 + kx + hy = 0

https://dl.doubtnut.com/l/_F9FRivMNmZRF


12. The locus of a point which is collinear with

the points A(3, 4) and B(4, 3) is

A. 1)x+y-7=0

B. 2)x+y+7=0

C. 3)x-y=7

D. 4)x-y+7=0

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_BGfSIsNo7oaL


13.  are the points. If P

is a point such that the area of  is twice

the area of , then the locus of P is

A. 1)

B. 2)

C. 3)

D. 4)

Answer: 3

Watch Video Solution

O(0, 0), A(4, 0), B(0, 6)

ΔPOB

ΔPOA

2x2 = 3y2

3x2 = 4y2

9x2 = 16y2

4x2 = 9y2

https://dl.doubtnut.com/l/_YWy2bbBFAelP


14.  are two points. If a point

P moves such that the area of  is 8.5 sq.

units, then locus of P is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

A(2, 3), B( − 3, 4)

ΔPAB

x2 + 10xy + 25y2 − 34x − 170y = 0

x2 + 10xy − 25y2 − 34x − 170y = 0

x2 − 10xy + 25y2 − 34x + 170y = 0

x2 − 10xy − 25y2 + 34x + 170y = 0

https://dl.doubtnut.com/l/_qabwTqkJnJK7


15.  are the points.

If P is a point such that the area of the

quadrilateral PABC is 3 sq. units, then the locus

of P is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

A(1, 1), B(2, 3), C( − 1, 1)

y2 + 6y = 0

y2 − 6y = 0

x2 + 6x = 0

x2 − 6x = x

https://dl.doubtnut.com/l/_NCsVjr4ah8qo


16. A line segment of length 10 sliding with ends

on the axes, then the locus of middle point of

the line segment is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

x2 − y2 = 25

y2 − x2 = 25

x2 + y2 = 25

x2 + y2 = 50

https://dl.doubtnut.com/l/_NCsVjr4ah8qo
https://dl.doubtnut.com/l/_YhzW2hG4CGMQ


17. A straight rod of length 9 unit, slides with its

ends A, B always on the x and y axes repectively.

Then the locus of the centroid of  is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

ΔOAB

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

https://dl.doubtnut.com/l/_YhzW2hG4CGMQ
https://dl.doubtnut.com/l/_UXMZSLZVdVT1


18. Sum of the distances of a point from two per

pendicular lines is 3. The area enclosed by the

locus of the point is

A. 18

B. 16

C. 4

D. 15

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_UXMZSLZVdVT1
https://dl.doubtnut.com/l/_ICZyh6PvynMX


19. Let  are two vertices of a 

 The third vertex C moves along 

. The locus of the

centroid of  is

A. 

B. 

C. 

D. 

Answer: 1

A(1, 2), B(3, 4)

ΔABC.

L = 7x + 5y − 10 = 0

ΔABC

21x + 15y − 68 = 0

7x + 5y − 4 = 0

7x + 5y + 68 = 0

7x + 5y − 17 = 0

https://dl.doubtnut.com/l/_ICZyh6PvynMX
https://dl.doubtnut.com/l/_31P7J2U3HBt9


Watch Video Solution

20. From a point P perpendiculars PM and PN

are drawn upon x, y axes respectively. If MN

passes through a fixed point (a, b) then the

locus of P is

A. 

B. 

C. 

D. 

+ = 1
x

a

y

b

− = 1
x

a

y

b

+ = 1
a

x

b

y

− = 1
a

x

b

y

https://dl.doubtnut.com/l/_31P7J2U3HBt9
https://dl.doubtnut.com/l/_Um35rwNoRMUn


Answer: 3

Watch Video Solution

21. Let  be vertices of a

triangle ABC. If the centroid of this triangle

moves on the line , then locus of

the vertex 'C' is the line

A. 

B. 

C. 

A(2, − 3), B( − 2, 1)

2x + 3y = 1

3x + 2y = 5

2x– 3y = 7

2x + 3y = 4

https://dl.doubtnut.com/l/_Um35rwNoRMUn
https://dl.doubtnut.com/l/_odfbrBCSF888


D. 

Answer: 4

Watch Video Solution

2x + 3y − 9 = 0

22. If  and  are two points and

, then the locus of P where P is

any point (x, y) is

A. 

B. 

A(3, 0) B( − 3, 0)

PA + PB = 10

+ = 1
x2

16

y2

7

− = 1
x2

16

y2

7

https://dl.doubtnut.com/l/_odfbrBCSF888
https://dl.doubtnut.com/l/_buKkr5vMj9G3


C. 

D. 

Answer: 4

Watch Video Solution

+ = 1
x2

7

y2

16

+ = 1
x2

25

y2

16

23.  are two points. The

equation to the locus of P such that

 is

A. 

A(2, 3), B(2, − 3)

PA + PB = 8

16x2 + 7y2 − 64x − 48 = 0

https://dl.doubtnut.com/l/_buKkr5vMj9G3
https://dl.doubtnut.com/l/_A4EV1o5SxwGw


B. 

C. 

D. 

Answer: 1

Watch Video Solution

16x2 + 7y2 − 64x + 48 = 0

16x2 − 7y2 + 64x − 48 = 0

16x2 − 7y2 + 64x + 48 = 0

24.  are two points. The

locus of the point P which moves such that

 is

A(2, 0), B( − 2, 0)

PA − PB = 2

https://dl.doubtnut.com/l/_A4EV1o5SxwGw
https://dl.doubtnut.com/l/_Vf2eu0SBop3W


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

3x2 + y2 = 3

3x2 − y2 = 3

x2 + 3y2 = 3

x2 − 3y2 = 3

25.  are the points

and  then the locus of P is

A = (0, 5), B = (0, − 5)

|AP − PB| = 8

https://dl.doubtnut.com/l/_Vf2eu0SBop3W
https://dl.doubtnut.com/l/_J9hsPGfEvpdf


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

16x2 − 9y2 + 144 = 0

16x2 + 9y2 + 144 = 0

x2 + 9y2 + 144 = 0

16x2 − 9y2 − 144 = 0

26. If  and 

, then the locus of P is

A = (0, 4), B = (0, − 4)

|AP − PB| = 6

https://dl.doubtnut.com/l/_J9hsPGfEvpdf
https://dl.doubtnut.com/l/_swjv1Fa80C6H


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

7x2 − 9y2 + 63 = 0

9x2 − 7y2 + 63 = 0

7x2 − 9y2 − 63 = 0

9x2 − 7y2 − 63 = 0

27. The locus of the point

 is(cos ecθ + cot θ, cos ecθ − cot θ)

https://dl.doubtnut.com/l/_swjv1Fa80C6H
https://dl.doubtnut.com/l/_fEN5b3kTZXnz


A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

x2 + y2 = 1

x2 − y2 = 1

xy = 1

xy + 1 = 0

28. Locus of centroid of the triangle whose

vertices are

https://dl.doubtnut.com/l/_fEN5b3kTZXnz
https://dl.doubtnut.com/l/_LDctgwWKGHi7


 and (2,0)

where  is a parameter is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

(a cos θ, a sin θ), (b sin θ, − b cos θ)

θ

(3x − 2)2 + y2 = a2 + b2

(3x − 2)2 + 3y2 = a2 + b2

(3x − 2)2 + 9y2 = a2 + b2

(3x − 2)2 + 9y2 = a2 − b2

https://dl.doubtnut.com/l/_LDctgwWKGHi7


29. Statement-I : The locus of the point, whose

distance from the X-axis is twice its distance

from the y-axis is  


Statement-II : The locus of the point

 is 

 Then the correct statement

is

A. only I

B. only II

C. both I and II

D. neither I nor II

y2 = 4x

(cot θ + cos θ, cot θ − cos θ)

(x2 − y2)
2

= 16xy

https://dl.doubtnut.com/l/_jJ7xsLvtDETL


Answer: 2

View Text Solution

30.  are three

points. If P is a point moves such that

 then locus of P is 

. Then decreasing order of

l,m,n

A. l, n, m

B. l, m, n

A(2, 3), B(1, 5), C( − 1, 2)

PA2 + PB2 = 2PC 2

lx + my + n = 0

https://dl.doubtnut.com/l/_jJ7xsLvtDETL
https://dl.doubtnut.com/l/_d6wH8GhzXgiP


C. m, n, l

D. n, l, m

Answer: 2

Watch Video Solution

31. Vertices of the triangle ('t' being parameter)

are given in list-I and locus of the respective

centroids is given in list-II. Match the two lists. 

https://dl.doubtnut.com/l/_d6wH8GhzXgiP
https://dl.doubtnut.com/l/_YoG5HjWflncN


 

The correct matching is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

A B C D

v iii ii i

A B C D

i ii v iv

A B C D

iv v i iii

A B C D

i ii iii iv

https://dl.doubtnut.com/l/_YoG5HjWflncN
https://dl.doubtnut.com/l/_L7IhAX8sBR06


32. Assertion (A): The sum of the distances of a

point from two perpendicular lines is 1, then its

locus is a square 

Reason (R): The locus of a point which is at a

distance 'p' from the given point is a circle

A. A true, R true and R is correct explanation

of A

B. A true, R true but R is not a correct

explanation of A

C. A true, R false

https://dl.doubtnut.com/l/_L7IhAX8sBR06


D. A false, R true

Answer: 2

Watch Video Solution

33. The equation 

represents a

A. circle

B. pair of straight lines

C. ellipse

x2 + y2 − 2x − 4y − 5 = 0

https://dl.doubtnut.com/l/_L7IhAX8sBR06
https://dl.doubtnut.com/l/_EDEY8TS7HxHv


D. a point

Answer: 1

Watch Video Solution

34. The locus represented by the equation

 is

A. hyperbola

B. circle

C. ellipse

x2 + y2 + 4x + 2y − 8 = 0

https://dl.doubtnut.com/l/_EDEY8TS7HxHv
https://dl.doubtnut.com/l/_GOdG05Olo9hi


D. parabola

Answer: 4

Watch Video Solution

35. The locus given by

 is

A. circle

B. hyperbola

C. ellipse

x2 − y2 + x + y − 1 = 0

https://dl.doubtnut.com/l/_GOdG05Olo9hi
https://dl.doubtnut.com/l/_sR32jD2RbkrW


D. pair of lines

Answer: 2

Watch Video Solution

36. The locus of the point  is

A. Circle

B. Ellipse

C. Hyperbola

D. Parabola

(a cosh x, b sin hx)

https://dl.doubtnut.com/l/_sR32jD2RbkrW
https://dl.doubtnut.com/l/_J543C7SXDGol


Answer: 3

Watch Video Solution

37. A and B are fixed points of 

(constant) and  then the locus of P is

A. Hyperbola

B. an ellipse

C. straight line

D. a circle

|PA − PB| = K

K < AB

https://dl.doubtnut.com/l/_J543C7SXDGol
https://dl.doubtnut.com/l/_OVzv1kJrQlhq


Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_OVzv1kJrQlhq

